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RETHERER

LRI LR 2 LARIL3 LRI 4 LRILS
IERHD IiE fi %] Fonba| biikicy B #E HE iF%
AS21 £ &
WH)-MEBLER PCIET EHI 7" Livvavi L=19100 H=800 8% = 1 1
HAEL (AD 1 AEER 1 A FEAT m 6.70 6.7
TSRSk AR SD295AD10 t 0.049 0.05
BreR7oh-4E (A1)
ThRHIREE S350N #y% F70D L=1480 # 4 4
BEARERE
S350N #y% M60D L=1280 #H 3 3
HAEL (A2) 1T AR 1 A &AL m 7.64 7.6
IS SD295AD10 t 0.056 0.06
PHER7VA-EE (A2)
ERFIREE S350N #y#% M55D L=1180 #H 4 4
BEMBRER
S350N #y% M60D L=1280 #H 3 3
AT
(U L— %) [HTZEE% ST 16,7t ES 2 2
fh#F 16.5t = 6 6
BT Y-k 30-8-20 m3 9.70 10
PCh-7" I 7 VrvkTE 1S17.8 m 105. 6 106
R 390kN 1517.8 = 16.0 16
Wi B8R IE 1 1
Bi5 fIERHT m 38.2 38
EH LKL 85 SD345 D13 — gttty t 0.532 0.53
BAHEEY
hY-p 24-12-25(20) BB m3 5.5 6
—HgEl 3
SIS m2 24.3 24
Y- EE
BAEIEY m3 5.5 6
BRMAMBEEE A1)
BEHAEHT fEEBET T ARMPHEREE  |20m SER BEMA &R 1 1
BRRAMEER (A2)
30mm EEA EEHA & 1 1
ekt
BEHE KT HeK 200%150 FRAv & 3 3
BEAKI
oK Y=b FA77NEFR 96. Om2 by 1 1
HEKE
KiEEE L=1400 & 1 1
BEKES-3F1
BRR @iyt BT 1 1
WHY-+ SRS
WET BFITHhE 24-12-25(20) BB m3 13.4 13
—REI
SIS m2 64.5 65
#BAT
SD345D13 t 1.045 1.05
BEEASHT BEAER 4 340 EEEkE CFEH=1000 Ay | m 38.6 39
EE (FHE - BB
SET FRI7IVARET |EE W=3. OmiZ £=40 m2 96.0 96
=B
=B W=3. OmiEg £=40 m2 96.0 96
SEEBET SREEaVhY- b 18-8-25 (20) BB m3 4.1 4
EE RN SRR AR A8 X
EiRE #HTER AR F959L-v 160t Z360tRBLLT | [ 1 1




L o )

1 .H

—

— &



1.

T ERTER

I THERER (1/3)
TF& = Al Hirg -~k ==X {72 = =
PCH7 AS21EF &L ZiN 8
22y )=k & ck=50N/mi” n’ 52.9 | Moot K
[ _woam t e
bl P 2 257.5 TR+ A
Al N n* 231.8
Hr & 8t i’ 489.3
7 1 SD345:D10 kg 2176
PCHHIM L R SWPR7BL 1S15. 2 m 2750. 4 REGETS
L PO E & i ke 3028. 2
Ry F L A8 m 352.0
BERRD > — A ¢ 42 m 86. 1
a7 J—Kh o ck=30N/mm” m 9.7
iU e m° 6.9
B | s PRI IE £ SWPRIOL 1S17.8 m 105. 6 SREET
T OPCHIA E & " kg 174.4
" TR ¢35 m 23.3
EEE 1517. 8H (&) A 32 6 =75" 00" 00”
EXIRT J 51 & :390kNEY EN 16
T 75k ¢ 42, 35 m 105. 6
EAET mn” 13.4
BT m 38.2
- ENTAENN o ck=24N/mm” n® 5.5
Al mn 24.3
Y SD345:D13 kg 409
H 8% ” D13 kg 123 EATHIA SR
L & & kg 532
- A H—h D13 1& 104
TAT m’ 5.5
ENTAES o ck=24N/mm” n’ 13.4 | HiFEE 1=-38.5m
& A n* 64.5
SD345:D13 kg 852
T 8% n o D13 kg 193 FEAHTEIABRA
& & kg 1045




I THERER (2/3)
TF& = Al Hirg -~k ==X {72 = =
s | T AT 7L bRk £=80mm m’ 96.0
¥ | FE=L 2 U—h o ck=18N/mn” m’ 4.1
T
| e A B A R CF&:H=1100mm m 38.6
1
T
e HEK P $S400, FC250 ke 32.1 |N=3f& 5T (Tign A » %)
PN
T
v— hRBKE n* 96. 0
5% ATV 7B 518 | m 22.1 HEHTPEACE
Ik 7 ) " : 4| mmiEkE
K & & m 28.5 & Fh
KikE A7 VP40A m 1.4
L | HekEL—3F 1 1 Hgh A v ¥
Ul i ALER m 49.1
I 6709%200%42 e 1 Fix (A1)
7643%200%42 # 1 Mov (A2)
ba S35CN:F70D L=1480 | #A 4 Fix (A1)
z kg 178.8 Z
‘ S35CN:M55D L=1180 | #H 4 Mov (A2)
7 T n kg 88.3 "
S35CN:M60D L=1280 | #A 6 |AL, ABRZENT M T
" kg 170. 4 "
L THBRIE 1855 SD295:D10 kg 106. 3 Fix, Mov
WEE )L H L BT L& L m’ 0. 25 Fix, Mov
T I — AL FEHEE L A L m’ 0.21 Fix, Mov




I ERIER (3/3)
THE & Bl HiFg -tk ==X {72 & " =
o 20mm A (FES H ) m 5.7 AL{H
EUNVEFEIAY
. 26mmfH (FES HH) m 6.6 A1l
\‘/v—/[/*j‘ N U pun \/:‘f—ﬁ U H— 2.0 A]., AZ'@JJ
| BTy U —h o ck=30N/mn” m’ 1.3 "
G
SD345:D16%710 kg 64 E T
n:D16%490 ke 39 TER AR
T T ™
i :D16%230 kg 18 T A
& Gt kg 121 & Gt




§2. FHrL

I E
HE 19100
9550
oL
\ \
iy
520 30/ 500 30 30 500 30
3550 3800 3800
300 %/ 18500
o oL
F | 8] 8
= ‘ 2 ! 3
L smzEmd) o | sz (2) = | oy FRZEER (2) |
i 5 | - S LT
\ \
14552 3018 560 3240 560 3240
3550 ‘ 3800 ‘ 3800
300 %/ 18500
¥ &
Py o 4 47 28 % A 4
700 700 30 580
30 640 J0 580 30
(I
o 8 o 8 | o 8 |
o ~ () ™~ | (e ~ |
AN RAS AN
oS o8 o8
X WEBHE. ARABOBRERT,
7 (1) 28 (2)
400 400
50 300 50 50 300 50
g
o | ,\
i | S|
2 3 | 3 g
o of
q,‘??’ qub



ESEIES (m) WA & OVE &
XRE EAxii HiT
i 1. 044 Wi AE () | AR W |[WEEe) | BAE W
i 0.120 i 0. 4906 1.612 0. 4640 1. 600
TEHEED 15. 696 ) 0. 5039 1.618 0. 4906 1.612
l 0. 240 TEVEER 0.5171 1.624 0.5171 1.624
rh R T D 2. 000 l 0. 5066 1.639 0. 4961 1. 654
# K 19. 100 R AT 0. 4961 1. 654 0. 4751 1. 684
HRZ2ER (1) 6. 036 HRZ2ER (1) 0. 2035 1.718 0. 2035 1.718
B 7 (2) 9. 720 B 7 (2) 0. 1955 1.678 0. 1955 1.678
1. PCHT(AS21 ¥ )
N= 8 R
2. @227 U— I (o ck=50N/mm’)
i
g () | KRR () | A ()
b 0. 4906 1. 044 0.512
! 0. 5039 0. 120 0. 060
TEYEED 0.5171 15. 696 8.116
! 0. 5066 0. 240 0.122
Hh R AT 0. 4961 2. 000 0. 992
NEEVT) 9. 802
HHZEE (1) -0. 2035 6. 036 -1.228
HRZEER (2) -0. 1955 9.720 -1. 900
& 6.674
HRT
g () | KRR () | A ()
b 0. 4640 1. 044 0. 484
! 0. 4906 0. 120 0. 059
TEYEED 0.5171 15. 696 8.116
! 0. 4961 0. 240 0.119
Hh R AT 0. 4751 2. 000 0. 950
NEEVT) 9.728
HHZEE (1) -0. 2035 6. 036 -1.228
HRZEER (2) -0. 1955 9.720 -1. 900
& 6. 600




3.

HE
ST
W= 2.5 X 6. 674
= 16. 685 t/4
Wt
W= 2.5 X 6. 600
= 16. 500 t/4
e
1) A (EIF i)
i
AEM | KEE WM | & W)
b 1.612 1. 044 1.683
! 1.618 0. 120 0.194
TEYEED 1.624 15. 696 25. 490
! 1.639 0. 240 0. 393
Hh R AT 1. 654 2. 000 3.308
N 31. 068
e | 0.4906 X 1. 154701 X2 1.133
& g | 32. 201
HRHfT
BAEMm | XKEE M | mE o)
oo BB 1. 600 1. 044 1. 670
i 1.612 0. 120 0.193
TR YEED 1.624 15. 696 25. 490
i 1. 654 0. 240 0. 397
Hh R T 1. 684 2. 000 3. 368
A 31.118
e | 0.4640X1. 154701 X2 1.072
& &t 32. 190
2) PR
JEEm | KEE M) | @ m)
HZEER (1) 1.718 6. 036 10. 370
HR 7258 (2) 1.678 9.720 16. 310
B (1) | 0.2035X1. 154701 X4 0. 940
BERE(2) | 0.1955% 1. 154701 X6 1. 354
& Fr 28.974




5. #RF (SD345)

D10 W= 272 kg

6. PCEfi#4 (SWPR7BL 1S15. 2)

1A (n) 2 ZL(m) i =
ES

PCERIHA 19. 100 18| 343.800|&E&xT
&&t 18|  343.800
1) PCEAM E &
W= 1.101 X 343. 800
= 378.524 kg
2) Ry R A
L= 3. 500 X 4 X
+ 2. 000 X 4 X
= 44. 000 m
7. HEEOR T — A (¢ 42)
biSi
L=( 0. 610 X 1. 154701 - 0.022 )X
= 10.918 m
FRAfT
L= 0. 580 X 1. 154701 X 16

= 10. 716 m



. EMTTRER

5 NYYTH B
& Bl RSB L==iva e s e

PCHT AS21HEF & PN 2 6 8
227 Y —h o ck=50N/mm” m’ 6. 674 6. 600 52. 948
g & t 16. 685 16.500{  132.370
s m 32. 201 32.190  257.542
A R m° 28.974 28.974|  231.792
& Ft m 61.175 61.164|  489.334

] SD345:D10 kg 272 272 2176
PCHRIMA IE R SWPR7BL 1S15. 2 m 343.800|  343.800| 2750. 400
PCEHA & & " kg 378.524|  378.524| 3028.192
Ry KU A Hb 44. 000 44.000  352.000
EDOH Y — A ¢ 42 10. 918 10. 716 86. 132

KOMIT, FHT OB EITEMIAL T OBEEZRT,



§3. BT

e

ii

800
700

730
0_
5
S U

3
1

(150)

XORITHRBDOTEETT

MK N=

1. =m> 27 J— (o ck=30N/mn®)

V=( 0. 730 X
- 0. 030 X
= 9.721 i’
2 ﬁlJﬂu_
Al= 17.936 X
= 3. 767
A2= 0. 030 X
X 7
= 0. 034 p?
A3= 1/2 X (
X 2 X
= 0.076
Ad= 0. 522 X
= 1. 096 n’
A= 0. 150 X
X 7
= 1. 940 p?

X A= 6.913

o O

fImE X
& 19100

o
S
&
‘ I
=
_ 15582 17936 A
FE15522 60 FEE
2 5 L
— Q')/ﬁ T
7 &R
AT AR NG
. 800 X 19. 100 - 9. 728
.070 X 17. 936 ) X 7
. 030 X 7
. 070 X 1. 154701 X 2
. 030 + 0. 150 ) X 0. 060
7
. 150 X 2 X 7
. 800 X 1. 154701 X 2



3. HEREOPCEART (SWPRIOL 1S17.8)

38.200 m

IARE (m) KO S L(m) -
b 6.597 4 26.388|REEFET
AT 6.597 12 79. 164 7
& G 16 105. 552
1) 1ERFOPCHIM B &
W= 1. 652 X 105. 552
= 174. 372 kg
2) L —A(¢35)
L=( 0. 150 + 0.030 )X
X 7
= 23.279 m
3) EHEE(1S17.8H)
s B L— M (0=75" 000 007 )
N= X 16
= 32 #A.
4) BRERT (Fral & :390kNTY)
N= 16 A=
5) 75w k(¢42,35)
L= 105. 552 m
4. BAET
A={ 0. 090 X 19. 100 +
+ 0.552 )X 0. 030 X
X ( 0. 500 + 0. 560 ) X
} X 7
= 13.374 n?
5. BT
L= 19. 100 X 2

1. 154701

1/2

0. 030

+

16

0.522
1/2



§4. ROHLI

FHEE
L

6423

© al=2.1532m’
o~ - - -
o _ — S
PASCAIN o NRRR NRE RN R R RN R RN RN RN A el =
, N g
~7 [3r)
6000
RAE
14900
a2=4. 1214w’
o o | o o o (=)}
R &
g T T SSSSSSSSSSSSSE
m [‘
- 14791
e (=
30
Al
\
‘ o
3 ! e
<o |
|
OV
=3
— g
SEEER L O E
al= 2. 1532 p° (CADF—# X 1)
a2= 4.1214 ? (CADT— % L 1)
al3= 1/2 X ( 0. 700 + 0. 730 ) X 0.030
= 0.0215 n?
1. =227 U— (o ck=24N/mm°)
V1= 2.1532 X 0. 800 + 0.0215 X 6. 000
= 1. 852
Vo= 4.1214 X 0. 800 + 0.0215 X 14. 900
= 3.617 n’
SV= 5. 469 p’

30




Al= 2.1532 +( 0.126 +
X 0. 800 + 0.0215 X
= 8. 050 p
A2= 4.1214 +( 0.157 +
X 0. 800 + 0.0215 X
= 16. 282 n°
S A= 24. 332
3. #RF (SD345)
X i 2 R
(kg)
LAl RAAI &t =3
D13 127 282 409
D13 37 86 123 | LA skss
= 164 368 532
4. A % — 1 (D13FH)
LAal RAAY
N= 30 + 74
= 104 {&
5. AT
A= 2.1532 + 0. 030 X
+ 4.1214 + 0.030 X

6.

902 p*

6. 423
1. 154701

14. 791
1. 154701

6. 000
14. 900

+

+

+

0. 764
0.0215

0. 195
0.0215



§5. HET

R (m)
L1 L2 CL R2 R1
GE1 0. 485 0. 209 0. 187 0. 102 0. 348
S1 0.481 0. 205 0.183 0. 100 0. 346
C1 0. 454 0.178 0. 156 0. 087 0.333
c2 0. 434 0. 158 0.134 0. 080 0. 326
c3 0.416 0. 142 0. 120 0. 080 0. 326
C4 0. 392 0.118 0.111 0. 086 0.332
C5 0.373 0. 099 0.110 0. 099 0. 344
C6 0. 360 0. 087 0.115 0.119 0. 364
c7 0. 354 0. 081 0.127 0. 145 0. 390
S2 0. 354 0. 081 0. 147 0.179 0. 424
GE2 0. 354 0. 081 0. 150 0.184 0. 429
- 0. 400 0.125 0.131 0. 106 0. 352
SOEENIMEEHE LY
ROHLE (m)
L1-G1 G8-R1
GE1 0. 550 0.471
S1 0. 543 0. 485
C1 0. 497 0. 586
c2 0.471 0.677
3 0. 470 0. 753
C4 0.503 0. 808
5 0.576 0. 836
6 0. 699 0. 830
c7 0. 882 0. 784
S2 1.136 0. 690
GE2 1.175 0.674
15 0.617 0.733
MRV LEE., EMfICEATROTELSRT
FH=1/16 X{S1 +2 X{(Cl +C2+ +++ C7 )+ S2}
=S (m)
GE1 GE2 L )
L1 0.5990|  20. 0875 19. 489 19, 471
L2 0.5988|  20.0513 19. 453
CL 0.5925|  19.7037 19. 111 -
R2 0.5921|  19.6053 19.013 19. 003
R1 0.5921|  19.5844 18. 992




FEK

HEE TH919471 (44 - 19489, 4 : 19453)
al

592

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, PRRRL L,

R

iy — o~

1130

MBS F1919003 (54 : 18992, 19 - 19013) a2
EES R
Lﬁ[] R{.EJJ
600 600
L1 © L2
- 75 9 [
o . : /'I'T-I H : :
g . M CRE I
| | N
| - | =
- =
= ‘ R % §
OV
‘c«rg
a5 ) ad
267 | 350 350 | 383
F 19617 _ 9733

B BEFFERERICILLENY EMAEEZRT .
RYHLRIE, EMCEARAFAOEEZTRT




1084

354

L

592
D
o
s <
: ﬁ
Lo
55
()
[ap]
~
\
200/ 350
550
L4l
649
b
(ap]
a8 :

730

i 50 7 o ]

GE14 R
585
o~
Lo
[ap)
al X
o
[=e]
~
(]
ol =
o
™~
350 121
471
GE24a1 R
621
<+
(2]
~ D
a9 g
D
L
o -
[ap)
M~




i 1

A&
L1=

2.1532 n*
4.1214 n*
1/2
0. 2325 p*
1/2
0.2124 p*
1/2
0. 0215 p*
1/2
0.200
0. 4469 m”
1/2
0.121
0. 3146 p*
1/2
0.163
0.3413 p°
1/2
0. 155
0. 3811 p°

1.505 m
1.438 m

X (

X (

X (

(BROMLLIEY)
(FROHLILD)

0. 375

0. 356

0.730

0. 459
0.730

0. 352
0.730

0.331
0.730

0.434
0.730

+

0. 400

0. 352

0.700

0. 485
0.0215

ab
0. 348
0.0215

ab

0. 354

0. 429

) X

) X

) X

) X

) X

) X

) X

. 600

. 600

. 030

. 592

. 585

. 649

. 621



1. a7 U—F (o ck=24N/mn®)

V1= 0.2325 X
+( 0. 267 X
+ 0.0215 X
= 6. 960 m’
V2= 0.2124 X
+( 0. 383 X
+ 0.0215 X
= 6. 458 m’
zV= 13. 418 p°
2. Al
Al= 1.505 X
+ 0. 267 X
+( 0. 4469 +
= 33. 160
A2= 1. 438 X
+ 0. 383 X
+( 0. 3146 +
= 31. 324 p
T A= 64. 484
3. #k (SD345)
X i 2 B
W (kg) B
D13 852
D13 193 | FHHLA £EfR
&F 1045

19. 471
19. 100
13.100

19. 003
19. 100
4.200

19. 471
19. 100
0.3413

19. 003
19. 100
0. 3811

) X

) X

2.15632 ) X 0.730

4.1214 ) X 0.730

2.15632
1. 154701

4.1214
1. 154701



GE2

§6. HHEET
FmX
GE1)
N @-D @27 /
/7 R &
81 /@ Z /@ @ Q 9 //
/
// / S /-
N // / / / / /_fzjﬂ JT’/77 ;3
3 ’ / ———7
/ / / / / / /
/ / / / /
<t / / / / / %
> e A /A A e 2 Ve 2
<
/ / / / / /
/ / / / / /
/ / / / /
'ég : g / / —
Lo /‘//L\/Kglﬁ ﬂ
&
i XA BEMIHEEEVIREBETT .
¥ mE &
_ 600 ik _ 600
7R 7IL FEEEL=80mm
RAEa ) —Fh
re) CL — © —
! e 8
HPEEESITHRHEEZTTT .
1. 7 A7 7/ FEEEE (t=80mm)
HE TR SEH¥) XE& FrEifE
(m) (m) (m) Al (%)
GE1 4. 954 - - -
S1 4. 961 4. 958 0. 3000 1.487
Cl 5.013 4. 987 2.3125 11.532
C2 5.073 5.043 2.3125 11. 662
C3 5. 141 5.107 2.3125 11. 810
C4 5.219 5. 180 2.3125 11. 979
Ch 5. 309 5.264 2.3125 12.173
C6 5.412 5. 361 2.3125 12. 397
C7 5.531 5.472 2.3125 12. 654
S2 5. 669 5. 600 2.3125 12. 950
GE2 5. 689 5.679 0. 3000 1.704
BF 19.100{  100. 348] (A1)
-A2=( 4. 954 + 5. 689 ) X 1. 154701 X 0. 350
— —4. 301 m2 TAELEE IR X3
2 A= 96. 047 n?



=27 U — b (o ck=18N/mn’)

SERERLEIE t=1/4 X 0.125 + 2 X 0.131 + 0.106 )=
V=( 0.123 - 0.080 )X
= 4.130 p°
§7. BT
1.

96. 047

e AT 6 P B A B A (CFE : H=1100mm)
L:

19. 637 +
38.636 m

18.999
N N

HEZK R (SS400, FC250)  (HESR A » %)
- PEK &P

0.123 m



§9. BKT

1. ¥— FFRFKE

A= 96. 047 p (BHtET X v)

2. MEREEHEARE (A7) 78 ¢ 18) (FEREESL A ~ &%)

« HEWTHEKE
L= 19. 490 + 2.590
= 22.080 m
« BEIETHE KR
L= 6.410 m
. A
=)
Il= 28.490 m

3. KIRE /3A 7 (VP40A)

L= 1.390 m

4. YKEZ —IF L (Fsp A v %)

N= 1 &

5. ImED B HALEE

L= 18.618 + 5. 730 + 18. 201 + 6. 538
= 49,087 m (mE L v ElE)



§10. X&T

1. IA5%%& (CR+ XA TR )

Al (Fix) 6709 mm X 200 mm X 42 mm n = 1

A2 Mov) 7643 mm X 200 mm X 42 mm n = 1

2. BEghT 7 —#EE (S35CN + CR + RY=F L )

A1 (Fix) F 70 D L = 1480 mm n = 4 i

W = 30.20 kg/m X 1.480m X 4 A& = 178.78 kg
A2 (Mov) M 55 D L = 1180 mm n = 4

W = 18.70 kg/m X 1.180m X 4 A& = 88.26 kg

3. MR TF-865 ( SD3451ESD295 )

Al (Fix) D 10 X 50 mm X 50 mm n = 1 f&Efr

W = 0.560 X ( 6.800 X 7 + 0.300 X 137 ) X 1 = 49.67 kg

A2 (Mov) D 10 X 50 mm X 50 mm n = 1 f&Efr

W = 0.560 X ( 7.750 X 7 + 0.300 X 156 ) X 1 = 56.59 kg

4. BEEL 2L ( BIETLZIL )

A1(Fix) V = {(6.839 X 0.330 X 0.030)+ (6.869 X 0.360 X 0.020)}

X 1 @Fr = 0.117 m'3

A2 (Mov) V = {(7.773 X 0.330 X 0.030)+ (7.803 X 0.360 X 0.020)}

X 1 @FT = 0.133 m'3

5. Trh—H ez ((EIHEELZIL )

Al (Fix) V = (1/4 X © X 0.175°2 X 0.780 — 1/4 X 7 X 0.070°2

X 0.680 ) X 4 fEFT = 0.065 m 3

A2 (Mov) V = (1/4 X = X 0.17572 X 0.630 — 1/4 X 7 X 0.055°2

X 0.530 ) X 4 fEFT = 0.056 m 3



6. MM IFILE

1). 7 h—%3EE (S35CN + CR + & J=FV//FRP + SR235 )

AL(F) M60D X 1280 mm n=3 K

W=22.20 kg/m X 1.280 m X 3 & = 85.2 kg

A2(M) M60D X 1280 mm n=3 K

W=22.20 kg/m X 1.280 m X 3 & = 85.2 kg

2. T —HE'AZ L ((EINHEEALZIL )

0.045 m"3

AL(F) V= (1/4X 7 X0.17572X0.680-1/4X 7 X0.060 2Xx0. 580) X3

A2(M) V= (1/4X 7 X0.17572X0.680-1/4X 7 X0.060 2X0.580) X3 = 0.045 m 3



§11. BT

1. fhfEZE®E ( CR + SS400 )

Al ThYaAr h—20mmfl GEEZHAE) L

A2 ThYaAr h—25mnfl (GEZEHAE) L

2. = (Y arFk)

Al 26 mm X 20 mm

V =20.026 X 0.020

A2 26 mm X 20 mm

V =20.026 X 0.020

L = 933+926

X 1.859

L = 999+967

X 1.966

3.#%¥ T2 27 U—1 ( ock=30N/mm2 )

Al V =5.721 X 0.500 X ( 0.100

+ 2.905 X 0.350

+ 2.816 X 0.350

=0.630 m"3

A2 V = 6.569 X 0.500

+ 3.562 X 0.350

+ 3.007 X 0.350

=0.694 m"3

X

( 0.209

( 0.187

( 0.100

( 0.101

( 0.170

1859 mm

X 1000 =

= 1966 mm

X 1000 =

+0.100 )

+0.187 )

+0.102 )

+0.100 )

+0.170 )

+0.204 )

5,721 m

6.569 m

0.97 U biv

1.02 Uw kv

/ 2

/ 2

/ 2

/ 2

/ 2

/ 2



4. 7 v 71—fp ( SD345 )

T

TER

Al

A2

A2

Al

A2

D16 X 710

W = 1.560

D16 X 710

W = 1.560

D16 X 490

W = 1.560

D16 X 490

W = 1.560

D16 X 230

W = 1.560

D16 X 230

W = 1.560

n=27 =R

0.710 X 27

n=31=x

0.710 X 31

n =23 &

0.490 X 23

n =27 A&

0.490 X 27

n =23 &

0.230 X 23

n =27 A&

0.230 X 27

30 kg

34 kg

18 kg

21 kg

8 kg

10 kg



